Fme8 Product Profile FENEHEEEl | gear box preformance information

3 20 50 208 208 342 588 588

130 130
4 19 50 140 140 290 290 542 1050 1050
5 22 60 160 160 330 330 650 1200 1200
. L1 6 20 55 150 150 310 310 600 1100 1100
(TVB Serl eS) 7 19 50 140 140 300 300 550 1100 1100
8 17 45 120 120 260 260 500 1000 1000
9 14 40 100 100 230 230 450 900 900
10 14 40 100 100 230 230 450 900 900
@ TV B - L 1 @ TV B - L2 FEiHAE(norminal output torque) T2N Nm i 20 22 iED 50 228 2 2 SiEt S
20 19 50 140 140 290 290 542 1050 1050
25 22 60 160 160 330 330 650 1200 1200
@ TVB'L1 'B @ TVB'LZ'B 30 20 55 150 150 310 310 600 1100 1100
35 19 50 140 140 300 300 550 1100 1100
L2 40 17 45 120 120 230 230 500 1000 1000
50 14 60 160 160 330 330 650 1200 1200
60 20 58] 150 150 310 310 600 1100 1100
70 22 50 140 140 300 300 550 1100 1100
80 17 45 120 120 260 260 500 1000 1000
100 14 40 100 100 230 230 450 900 900
S(sHsE(emergency torque)Tavor Nm L1*L2 3~100 2 5{EERERHALE 2.5 times of norminal output torque
FEMAEE(norminal input speed)niv T L1*L2 3~100 5000 5000 4000 4000 4000 4000 3000 3000 3000 2000
BAHAEE(maximum input speed)nis L1*L2 3~100 10000 10000 8000 8000 8000 8000 6000 6000 6000 4000
. L1 3~10 <4 <3 <3 <3 <3 <3 <3 <3 <3 <4
EERASHREIbackasy . L2 12~100 <6 <5 <5 <5 =<5 =<5 <5 <5 <5 =6
arcmin
L L1 3~10 <5 <5 <5 <5 <5 <5 <5 <5 <5 <5
[EligtREEKP2 standard backlash L - = = s = = = = = = =
H4ERIME torsional stiffness Nm/arcmin L1*L2 3~100 3 7 14 14 25 25 50 145 145 225
BARMEBD(Maximum radial force)Farmax N L1*L2 3~100 780 1200 2450 2450 4000 4000 9000 14500 14500 50000
BAIED (Maximum axial force)Foawax N L1112 3~100 390 1050 2200 2200 4000 4000 8300 7250 7250 25000
TfesE efficiency % L1 3~10 =97 =97 =97 =97 =97 =97 =97 =97 =97 =97
L2 12~100 =94 =94 =94 =94 =94 =94 =94 =94 =94 =94
T life time h L1*1.2 3~100 =20000 /) (hour)
FBERE operating temperature T L1*L2 3~100 -10C~+90C
i@ig%5 =X lubrication L1*L2 3~100 i Lifetime Iubrication
F5#PS4R IP degree L1*L2 3~100 1P65
#%751E mounting position L1*L2 3~100 {Ea5M@ All position
% noise level dB L1*L2 3~100 <56 <60 <64 <64 <67 <67 <72 <67 <67 <70
38 0.03 0.16 0.61 0.61 3.25 3.25 9.21 28.98 28.98 69.61
4 0.03 0.14 0.48 0.48 274 2.74 7.54 23.67 23.67 54.37
5 0.03 0.13 0.47 0.47 271 271 7.42 23.29 23.29 53.27
6 0.03 0.13 0.45 0.45 2.62 2.62 7.25 22.75 22.75 51.72
L 7 0.03 0.13 0.45 0.45 2.62 2.62 7.25 22.48 22.48 50.97
8 0.03 0.13 0.44 0.44 2.58 7.07 7.07 22.59 22.59 50.84
9 0.03 0.13 0.44 0.44 257 7.04 7.04 22.53 22.53 50.63
#xhiEE(Moment of Inertia)J1 kg.cm? 10 0.03 0.13 0.44 0.44 2.57 2.57 7.14 22.51 22.51 50.56
15 0.03 0.03 0.13 0.13 0.47 0.47 7.03 7.42 7.42 23.29
20 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 7.42 23.29
25 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 7.42 23.29
L2 30 0.03 0.03 0.13 0.13 0.47 0.47 2,71 7.42 7.42 23.29
35 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 7.42 23.29
40 0.03 0.03 0.13 0.13 0.47 0.47 271 7.42 7.42 23.29
50 0.03 0.03 0.13 0.13 0.47 0.47 271 7.03 7.03 22.51
60 0.03 0.03 0.13 0.13 0.44 0.44 257 7.03 7.03 22.51
70 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 7.03 22.51
80 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 7.03 22.51
100 0.03 0.03 0.13 0.13 0.44 0.44 2.57 7.03 7.03 22.51

TMOX TMOoX




SMEZRTEIZE / out line dimension sheet

L1 (8 &
] 6 1 18
ST TR 1
13 _(6]
m, 2 g e i 1 o o
ﬂ < S — L } S| E=Y
\
L —
011 812 % v,
B1
;3
R TVB042 TVB060 TVB090 TVB115 TVB140 TVB180 TVB220
50 70 100 130 165 215 250
34 55 6.5 9 11 13 17
13 16 22 32 40 55 75
| D4 | 35 50 80 110 130 160 180
Ma*8 M5*12 M8*16 M12+24 M16+32 M20%40 M20*40
El 42 60 90 115 140 180 220
3 3 3 5 5 6 7
14 20 30 40 65 70 90
195 285 355 51 82 82 105
55 7 10 12 135 20 30
26 37 48 65 985 105 138
4 8 10 10 12 15 20
| s | 61.5 68 88.5 114 146.5 164 200
El 46 70 90 145 200 200 215
M4*8 M4*8 M5*10 M8*16 M12+24 M12+24 M1224
46 60 90 130 180 180 200
8 14 19 24 35 35 42
30 50 70 110 114.3 114.3 180
5 6 6 6 8 7 8
El 275 325 47 62.5 81.5 85 109
915 113 1465 189 257 284 358
5 5 6 10 12 16 20
15 18 245 355 43 59 795

1RIENL D H ST LUAE PESIA/NMIKE.

E2MARTIKIES MR EIR DRSS H IAT B Al .

TMOX

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

SMEERTEIZ / out line dimension sheet

11 8 03
“ 6 11 18 )
ST TR a B e
13 6L
/5 \
ﬁ 2 g s 1 o9 I Q \
k= HELRRH\NE !
\ /
T T
N
001 002 D) o2
B1
¥} =
R TVB042 TVB060 TVB090 TVB115 TVB140 TVB180 TVB220
50 70 100 130 165 215 250
3.4 55 6.5 9 11 13 17
13 16 22 32 40 55 75
35 50 80 110 130 160 180
M4*8 M5*12 M8*16 M12+24 M16+32 M20%40 M20*40
Il 42 60 90 115 140 180 220
3 3 3 5 5 6 7
14 20 30 40 65 70 90
195 285 355 51 82 82 105
55 7 10 12 135 20 30
26 37 48 65 985 105 138
4 8 10 10 12 15 20
82 88 116.5 151 200 220 249
EN 46 70 90 145 200 200 215
M4*8 M4*8 M5*10 M8*16 M12+24 M12+24 M12+24
46 60 90 130 180 180 200
8 14 19 2 35 35 42
30 50 70 110 114.3 114.3 180
5 6 6 6 8 7 8
275 325 47 62.5 815 85 109
112 133 1745 226 3105 340 407
EN 5 5 6 10 12 16 20
15 18 245 355 43 59 795

FE IR D SR AR PRSI AR

E2MARTIRIES R EIR DRSS BRI LB .

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

TMOX




SMEZRTEIZE / out line dimension sheet

L (8 4
n . 6 17 8
)/ \R b IS 1 -y
< > 3 el
@y = %I ===3 | 3 = { @ W) )
& i
S o
B
¥y =
»
R TVB090B TVB1158 TVB140B TVB180B

100 130 165 215
6.5 9 11 135
22 32 40 55
80 110 130 160
M8*16 M12+24 M16+32 M20%42
El 90 115 140 180
3 5 5 6
30 40 65 70
355 51 82 82
10 12 135 20
48 65 985 1055
10 10 12 15
[ s | 80.5 101 139 1615
El 70 90 145 200
M4*8 M6*12 M8*16 M12+24
60 80 130 180
14 19 24 38
50 70 110 1143
6 6 11 10
39 495 74 83
138.5 176 2495 282
6 10 12 16
245 355 43 59

FE 1 IRRAL S ET AR = R RS AN .

E2MARTIKIES MR EIR DRSS H IAT B Al .

TMOX

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors

or stepper motors sizes.

SMEERTEIZ / out line dimension sheet

TVB-L2-B

11 8 (3
. L6 L7 18
)}/' ‘K b IS 0 I —
< P> B 4
(i - - iz
D)) e e
S o #
B1
B} =
N

TVB090B TVB1158 TVB140B
100 130 165
6.5 9 11
22 32 40
80 110 130
M8*16 M12+24 M16*32
9 115 140
30 40 65
355 51 82
10 12 135
48 65 98.5
10 10 12
1085 138 1925
70 9 145
M4*8 M6*12 M8*16
60 80 130
14 19 24
50 70 110
6 6 11
39 495 74
166.5 213 303
6 10 12
245 355 43

FE IR D SR AR PRSI AR

E2MARTIRIES R EIR DRSS BRI LB .

Note 1: The reducer output shaft size and length can be customized for customers.
Note 2: Input sizes can be subject to changed according to the brand servo motors
or stepper motors sizes.

TMOX






